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Question No : 1 of 52 Marks: 1 (Budgeted Time 1 Min) BI :'j

If a user 1s using CGI script on a UNLX server, then the script type 1s called

Lll
Answer ( Please select your correct option )

Client side scripting -
o

Server side scripting Correct answer solved by Hadi
c Email : usmanraj20@gmail.com

Cell no: 03087122922 =

Stand-alone scripting -
-

GUI scripting =
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Question No : 2 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
The floppy disk was introduced in the market by =
Lll
Answer ( Please select your correct option )
Hewlett Packard -
I
IBM -
(@,
Intel -
.
Yoshito Nakamats Correct answer solved by Hadi =
(@] Email : usmanraj20@gmail.com
Cell no: 03087122922
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Question No : 3 of 52 Marks: 1 (Budgeted Time 1 Min) BI
brought the use of mouse-driven graphical user interface i computing. =
=

Answer ( Please select your correct option )

Apple Macintosh Correct answer solved by Hadi
c Email : usmanraj20@gmail.com
\\_//_/ Cell no: 03087122922
Microsoft
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Question No : 4 of 52 Marks: 1 (Budgeted Time 1 Min) BI :'j

Select the best option to create and edit the HTIL pages.

LII
Answer ( Please select your correct option )
MS Paint, Adobe Photoshop =
I
Correct answer solved by Hadi a
- Notepad, IS Front page _\//_, Email : usmanraj20@gmail.com
Cell no: 03087122922
Netscape, Mozla =
.
MS Excel, MS Outlook =
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Question No : 5 of 52 Marks: 1 (Budgeted Time 1 Min) BI :'j

If'the data type of a variable can be changed during the execution of a program, then the variable will be

Answer ( Please select your correct option )

Logically Typed
P

Dynamically Typed Correct answer solved by Hadi

' _\/_,_,—'—- Email : usmanraj20@gmail.com
Cell no: 03087122922

Statically Typed

Strictly Typed
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Question No : 6 of 52 Marks: 1 (Budgeted Time 1 Min) EI
Identify, which one of the following is not a type of JavaScript loops? =

S|

Answer ( Please select your correct option )

For
@
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Question No : 7 of 52 Marks: 1 (Budgeted Time 1 Min) BI :'j

-~

Suppose Microsoft launches a new operating system then according to heuristics, who will actually define whether that operating system is successful or not?

1
Answer ( Please select your correct option )

The user Correct answer solved by Hadi =

o —\//_/f_' Email : usmanraj20@gmail.com
Cell no: 03087122922

The developer -
(@

Both user and developer -
-

Microsoft =
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Question No : 8 of 52 Marks: 1 (Budgeted Time 1 Min) EI
Heuristics suggest that a program or module should be divided into maximum and minimutm parts. =

S|

Answer ( Please select your correct option )

558
&
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Question No : 9 of 52 Marks: 1 (Budgeted Time 1 Min) BI
Without a complete system, one can results from a part of a system. =
=

|

Answer ( Please select your correct option )

Not achieve Correct answer solved by Hadi
L Email : usmanraj20@gmail.com
Cell no: 03087122922
Achieve maximum
(@

Achieve best

Start Time: 4:52 PM

120:00

Time Left

lpaper.aspx




/= ¥U Examination System (CLIENT) YUTES 6.5 :::... Fall 2012 (FinalTerm) ... - Iﬂlll
@::{ L Ig‘ http: f/localhost /Y UTES/ client/Instructions, aspx LI ‘ E [ #2[] X }:f Live Search PeaRd

File Edit View Favorites Tools Help

<7 Favorites \ 9= @ | Suggested Sites » @ | Web Slice Gallery ~

(& VU Examination System (CLIENT) YUTES 6.5 :::... Fall... I | {_”i} B - é.] ~ Page~ Safety v Tools~ @v
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Ifyou are required to join two Labs of similar type of LAN then which device will be more suitable to fulfill this requirement?

i
Answer ( Please select your correct option )
Router -
(@
Bridge =
4
Gateway =
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Question No : 11 of 52 Marks: 1 (Budgeted Time 1 Min) BI :'j
Value of a variable, in JavaScript. =

1
Answer ( Please select your correct option )
can’t be changed -
I
be ch d Correct answer solved by Hadi a
® (FRNUELARED Email : usmanraj20@gmail.com
Cell no: 03087122922
is always positive -
.
is always negative =
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1s used to terminate JavaScript statements.

Answer ( Please select your correct option )

Colon -
(@,

Sermicolon =
L 4

Apostrophe =
p

Double quotes =
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Question No : 13 of 52 Marks: 1 (Budgeted Time 1 Min) BI :'j

can be used in JavaScript to open multiple popup windows when a particular web page 1s opened.

1
Answer ( Please select your correct option )
ondbort -
o
onChange -
(@
onLoad Correct answer solved by Hadi -
Q Email : usmanraj20@gmail.com
Cell no: 03087122922 =
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Question No : 14 of 52 Marks: 1 (Budgeted Time 1 Min) EI
The output of document write(“2" + MMath PT); 1s =

S|

Answer ( Please select your correct option )

23.1415592653589793 -
>

3.146 =
(&

2.3141552653589793 -
o

5.141592653589793 ~
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Question No : 15 of 52 Marks: 1 (Budgeted Time 1 Min) BI :'j

-~

Suppose you are given a string str_title = “Virtual University of Pakistan" then which of the following can be used to count the number of characters in the string?

i
Answer ( Please select your correct option )
str_title. size -~
I
str_title. count -
(@,
str_title length Correct answer solved by Hadi -

® \/ Email : usmanraj20@gmail.com
Cell no: 03087122922
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Question No : 16 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]| =l

Suppose you have an RGE scheme based inage of 1024x%768 pixels. Select the appropriate space you should have in your computer to store this image.

Answer ( Please select your correct option )

2.25MB -

*
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Question No : 17 of 52 Marks: 1 (Budgeted Time 1 Min) BI :'j

On a web page, if we need to execute a script when a user exits the page, then which event handler should we use to run that script?

1
Answer ( Please select your correct option )
onLoad =
o
onUnload Correct answer solved by Hadi =
» Email : usmanraj20@gmail.com

Cell no: 03087122922

onFocus
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Question No : 18 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]| =l

In Relational Database, table rows are called

1
Answer ( Please select your correct option )
Attributes -
(@
Fields =
(@
Records =
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Question No : 19 of 52 Marks: 1 (Budgeted Time 1 Min) BI :'j

In Relational Database table columns are called p

1
Answer ( Please select your correct option )
Records -
o
Walues =
(@
Fields Correct answer solved by Hadi -
L Email : usmanraj20@gmail.com
Cell no: 03087122922 =
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Question No : 20 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]| =l

In the context of intelligent systems, softbots is also termed as

i
Answer ( Please select your correct option )
Mobile phone -
(@
Autonomous web agent =
»

Any wireless device
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Ifthe calling function 1s a part of a JavaScript statement then the definition of this function will must have the statement. =

1
Answer ( Please select your correct option )

Break -
o

Terminate -
(@

Returm Correct answer solved by Hadi -
& Email : usmanraj20@gmail.com

Cell no: 03087122922
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is a container that holds a single value.

i
Answer ( Please select your correct option )
Array -
(@
Variable =
®

Function
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Question No : 23 of 52 Marks: 1 (Budgeted Time 1 Min) BI :'j

refers to DoS attack.

1
Answer ( Please select your correct option )
Overburdening of the system Correct answer solved by Hadi -
& Email : usmanraj20@gmail.com
Cell no: 03087122922 b
Theft of data =
(@
Corruption of data -
-
Modification of data =
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Question No : 24 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]| =l

Launching DoS attack involves some steps. The second step in this attack is

Answer ( Please select your correct option )

Race
@
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Question No : 25 of 52 Marks: 1 (Budgeted Time 1 Min) BI =l
For creating 2-D animations, will be the more appropnate choice. =

LII
Answer ( Please select your correct option )
Flash -
o
HTML image class -
(@
Web Browser Correct answer solved by Hadi =
» Email : usmanraj20@gmail.com
Cell no: 03087122922 =
HTML 2D class =

Start Time: 4:52 PM

119:00

Time Left

lpaper.aspx




/2= ¥U Examination System (CLIENT) YUTES 6.5 :::... Fall 2012 (FinalTerm)

@::; v Ig http:/flocalhost/YUTES client/Instructions. aspx

LI ||| }V-V«" Live Search

File Edit View Favorites Tools Help

<7 Favorites \ 9= @ | Suggested Sites » @ | Web Slice Gallery ~

(& VU Examination System (CLIENT) YUTES 6.5 :::... Fall... I |

Ay v B v [t v Pagev Safety v Tooks v @+

Question No : 26 of 52 Marks: 1 (Budgeted Time 1 Min) EI
The process which leads us to the exact location of defects in a program is termed as =

S|

Answer ( Please select your correct option )

Debugging
*

Testing

Defect Killing
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Question No : 27 of 52 Marks: 1 (Budgeted Time 1 Min) BI :'j

By adding comments, we make the code more

1
Answer ( Please select your correct option )
Easy -
o
Readable Correct answer solved by Hadi =
- Email : usmanraj20@gmail.com
Cell no: 03087122922 =
Correct =
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Question No : 28 of 52 Marks: 1 (Budgeted Time 1 Min) EI =
Ethics 15 a collection of that when followed, improves our way of life. =

1
Answer ( Please select your correct option )
Words -
(@
Sentences =
(@
Heuristics =
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Question No : 29 of 52 Marks: 1 (Budgeted Time 1 Min) EI =
In httnl, tag 1s used for smallest heading. =

1
Answer ( Please select your correct option )
<h2=><ih2> =
(@
<hé6=</hé> Correct answer solved by Hadi =
& \/ Email : usmanraj20@gmail.com
Cell no: 03087122922 .
<hl=<fhl=> =
<sH=><fsH= =
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Question No : 30 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]| =l

How many symbols are used in Binary Number System?

Answer ( Please select your correct option )

10 -
O
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Question No : 31 of 52 Marks: 1 (Budgeted Time 1 Min) BI :'j
Anti Virus software is a kind of . -

Answer ( Please select your correct option )

Utility Program Correct answer solved by Hadi -
O \—_/_/_’_’_,__ Email : usmanraj20@gmail.com
Cell no: 03087122922 =
System Software -
(@
Device Driver =
.
Freeware =

Start Time: 4:52 PM

119:00

Time Left

lpaper.aspx
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Question No : 32 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]| =l

Relationship among the cells of 3 Excel sheet can be created by

Answer ( Please select your correct option )

Relationship diagram
(@

Start Time: 4:52 PM

119:00

Time Left

lpaper.aspx
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@ VU Examination System (CLIENT) YUTES 6.5 :::... Fall.. I | fi v B - L - Page~ Safety - Tooks -~ @~
Question No : 33 of 52 Marks: 1 (Budgeted Time 1 Min) BI :'j

“Learning through trail and errors” 1s specifically termed as

i
Answer ( Please select your correct option )

Understanding -
o

B Correct answer solved by Hadi a
* BUnShE Email : usmanraj20@gmail.com

Cell no: 03087122922

Experience -
-

Knowledge =

Start Time: 4:52 PM

119:00

Time Left

lpaper.aspx
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Question No : 34 of 52 Marks: 1 (Budgeted Time 1 Min) EI
In a software house, 1s responsible for ensuring the quality of the software. =

S|

Answer ( Please select your correct option )

Technology transfer team
(@

Configuration management team

Quality assurance team

c g

Development team

Start Time: 4:52 PM

119:00

Time Left

lpaper.aspx
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<7 Favorites \ 9= @ | Suggested Sites » @ | Web Slice Gallery =

@ VU Examination System (CLIENT) YUTES 6.5 :::... Fall.. I | fi v B - L - Page~ Safety - Tooks -~ @~
Question No : 35 of 52 Marks: 1 (Budgeted Time 1 Min) BI :'j

A home page 1s a part of a

1
Answer ( Please select your correct option )
Terminal -
o
Website Correct answer solved by Hadi -
& Email : usmanraj20@gmail.com
Cell no: 03087122922 =
Browser =
-
Protocol =

Start Time: 4:52 PM

119:00

Time Left

lpaper.aspx




/= ¥U Examination System (CLIENT) YUTES 6.5 :::... Fall 2012 (FinalTerm)

@::: v IE http:/flocalhost/YUTES/ client/Instructions. aspx

LI ||| ,';‘" Live Search

File Edit Vew Favorites Tools Help

<7 Favorites \ 9= @ | Suggested Sites » @ | Web Slice Gallery =

(& VU Examination System (CLIENT) YUTES 6.5 :::... Fall... I |

Ay v B v [t v Pagev Safety v Tooks v @+

Question No : 36 of 52 Marks: 1 (Budgeted Time 1 Min) EI
organizational structure is replacing the old-style organizational model. =

= |

Answer ( Please select your correct option )

Network
(@

Hierarchical

C \/—z—

Start Time: 4:52 PM

119:00

Time Left

[paper.aspx




/= ¥U Examination System (CLIENT) YUTES 6.5 :::... Fall 2012 (FinalTerm)

@::: v Ié http:/flocalhost /Y UTES client/Instructions. aspx

LI ||| }:;" Live Search

File Edit View Favorites Tools Help

<7 Favorites \ 9= @ | Suggested Sites » @ | Web Slice Gallery =

(& VU Examination System (CLIENT) YUTES 6.5 :::... Fall... I |

Zp v B v ) = v Page~ Safety v Tools v (@~

Question No : 37 of 52

Marks: 1 (Budgeted Time 1 Min) ()|

The study, related to social implication of computing helps the professionals in a way that they

-~

|

Lll
Answer ( Please select your correct option )

They look after themselves
P

They practice their profession with great care
(@,

They do their jobs with least interest
o

They reduce their work load Correct answer solved by Hadi
e \-\_,-—~—— Email : usmanraj20@gmail.com

Cell no: 03087122922

Start Time: 4:52 PM

119:00

Time Left

lpaper.aspx




/= ¥U Examination System (CLIENT) YUTES 6.5 :::... Fall 2012 (FinalTerm) ... = Iﬂlﬂ

@::; v Ié http:/flocalhost /Y UTES client/Instructions. aspx :I ‘ & [ *[]X | }:;" Live Search Beltd

File Edit View Favorites Tools Help

<7 Favorites \ 9= @ | Suggested Sites » @ | Web Slice Gallery =

@ VU Examination System (CLIENT) YUTES 6.5 :::... Fall.. I | fi v B - L - Page~ Safety - Tooks -~ @~
Question No : 38 of 52 Marks: 1 (Budgeted Time 1 Min) BI =
LCD displays are dimensional display. =

i
Answer ( Please select your correct option )
1 -~
o
5 Correct answer solved by Hadi a
® Email : usmanraj20@gmail.com

Cell no: 03087122922

Start Time: 4:52 PM

119:00

Time Left

lpaper.aspx




/= ¥U Examination System (CLIENT) YUTES 6.5 :::... Fall 2012 (FinalTerm) ... - Iﬂlll
@::{ L Ig‘ http: f/localhost /Y UTES/ client/Instructions, aspx LI ‘ E [ #2[] X }:f Live Search PeaRd

File Edit View Favorites Tools Help

<7 Favorites \ 9= @ | Suggested Sites » @ | Web Slice Gallery ~

(& VU Examination System (CLIENT) YUTES 6.5 :::... Fall... I | {_”i} B - é.] ~ Page~ Safety v Tools~ @v
Question No : 39 of 52 Marks: 1 (Budgeted Time 1 Min)  [=]| =l

Which of the following describes charactenistics of Telnet?

Answer ( Please select your correct option )

Tt is used to send email. -
@

Tt is used to login remotely. =
3

It 15 used to receive email =
o

It is used to read online news. =~

Start Time: 4:52 PM

119:00

Time Left

lpaper.aspx
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Question No : 40 of 52 Marks: 1 (Budgeted Time 1 Min) BI
Which of the following provides Instant Message Service to the internet users? =
LII
Answer ( Please select your correct option )
HTTP
I
IE
(@,
AT Correct answer solved by Hadi
Y Email : usmanraj20@gmail.com
Cell no: 03087122922

Start Time: 4:52 PM

119:00

Time Left

lpaper.aspx




Question No : 1 of 52 Marks: 1 (Budgeted Time 1 Min)

The structure in which another list starts before the first list 1s finished, 15 called

Answer ( Please select your correct option )

Nultiple List
I
Nested List Correct answer solved by Hadi
L Email : usmanraj20@gmail.com
Cell no: 03087122922
Ordered List
(S,
Un-ordered List
p




Question No : 2 of 52

Marks: 1 (Budgeted Time 1 Min)

Base 16 iz the basge of mnber systern.

Answer | Please select your correct option )

Einaty

Decimal

Hezadecinal

Oictal




Question No : 3 of 52

Marks: 1 (Budgeted Time 1 Min)

The floppy disk was introduced in the market by

Answer ( Please select your correct option )

Hewlett Packard
.
IBM
I
Intel
(@
e — Con:ect answer. solved I?y Hadi
® Email : usmanraj20@gmail.com
Cell no: 03087122922




Question No : 4 of 52

Marks: 1 (Budgeted Time 1 Min)

Choose the right extensions for saving a web page.

Answer { Please select your correct option )

* index, * doc
~

* xls, * cvs

* htral, * htm

*jpg, *bmp

YNade by: Waqar Siddhy




Question No : 5 of 52 Marks: 1 (Budgeted Time 1 Min)

Iftype attribute of INPUT tag is set to "reset", then it will:

Answer ({ Please select your correct option )

Save all the data
~

Set the shape of all the fields
P

Set all fields to their default values Correct answer solved by Hadi
» Email : usmanraj20@gmail.com

Cell no: 03087122922

YNade by: Waqar Siddhy

Do nothing; you have to write code for it




Question No : 6 of 52 Marks: 1 (Budgeted Time 1 Min)

TWrite the name of tag(s) that can be used to select only one option from multiple choices.

Answer { Please select your correct option )

SELECT and LIST
~

RADIO and TEXT AREA

SELECT and RADIO

CHECKBOX

YNade by: Waqar Siddhy




Question No : 7 of 52 Marks: 1 (Budgeted Time 1 Min)

How many bits are there in one byte?

Answer | Please select your correct option )

8 bits Correct answer solved by Hadi
L Email : usmanraj20@gmail.com
Cell no: 03087122922

10 bits
1"‘

12 bits
[

16 bits




Question No : 8 of 52 Marks: 1 (Budgeted Time 1 Min)

Identifiy the operator that cannot be uzed for compatison purpose.

Answer | Please select your correct option )

v

=
rl’"
[

o
8




Question No : 9 of 52

Marks: 1 (Budgeted Time 1 Min)

Comments increases

Answer ( Please select your correct option )

Code Understanding Pt Be s s e e Con:ect answer. solved t.by Hadi
& hiden all syntex and show all data Email : usmanraj20@gmail.com
according to code , Cell no: 03087122922
Memory Space
~
Code Effictency
I
Code Complexity
-




Question Mo : 10 of 52 Marks: 1 (Budgeted Time 1 Min)

Mormally to develop a large application / systern, the modular approach iz preferred. But to achieve masimum quality and easiness of maintenance, the modules should be

Answer | Please select your correct option }

Dependent
I

Independent

Cotnplex

Less than four




Question No : 11 of 52 Marks: 1 (Budgeted Time 1 Min)

If you are asked to design a system having many parts then by following the heuristics, you should design the part first.

Answer ( Please select your correct option )

Hardest
-~

Simplest
I

Development
P

Least important Email : usmanraj20@gmail.com
& Cell no: 03087122922

but check must




Question No : 12 of 52 Marks: 1 (Budgeted Time 1 Min)

What will be the result of the following formmula in Spreadsheet application?
SUM (A2 A = (Assume that A2 =25 A3 =73

Answer | Please select your correct option )

a0

100

25

=50




Question No : 13 of 52

Marks: 1 (Budgeted Time 1 Min)

Suppose you want to upload / download a file to and from your fiend’s computer, located remotely. Which protocol can help you in this case?

Answer ( Please select your correct option )

HTTP
.
SMTP
I
FTP Correct answer solved by Hadi
‘ Email : usmanraj20@gmail.com
Cell no: 03087122922
TELNET
p




Question No : 14 of 52 Marks: 1 (Budgeted Time 1 Min)

If an atray in JTavaScript has 15 elements, the index of the last element of the array will be

Answer | Please select your correct option )

1]
8

1
1"‘

15
I

14
»




Question No : 15 of 52 Marks: 1 (Budgeted Time 1 Min)

If you want to assign an IP address to your computer, you can use any number from in each part of IP address.

Answer ( Please select your correct option )

1to 255
I
0to 255 Correct answer solved by Hadi
' Email : usmanraj20@gmail.com
Cell no: 03087122922
0to 256
(S,
1to 256
p




Question No : 16 of 52

Marks: 1 (Budgeted Time 1 Min)

15 used to terminate TavaScrpt staternents.

Answer | Please select your correct option )

Colon

Semicolon

Apostrophe

Double quotes




Question No : 17 of 52

Marks: 1 (Budgeted Time 1 Min)

onLoad event occurs when the form 1s

Answer ( Please select your correct option )

Reset
I
Unloaded
-
Submitted
(S,
Tsaded Con:ect answer‘ solved !'Jy Hadi
& Email : usmanraj20@gmail.com
Cell no: 03087122922




Question No : 18 of 52 Marks: 1 (Budgeted Time 1 Min)

is a software capable of performing different mathematical functions and account management tasks for a user.

Answer { Please select your correct option )

MS Word
~

MS PowerPoint

S Excel

WS Front Page

YNade by: Waqar Siddhy




Question No : 19 of 52 Marks: 1 (Budgeted Time 1 Min)

document write ("20"+"12");
The output of the above statement is

Answer ({ Please select your correct option )

32
-
1220
o
2012 Correct answer solved by Hadi
& Email : usmanraj20@gmail.com
Cell no: 03087122922
2400
& [ ]
YNade by: Waqar Siddhe




Question No : 20 of 52 Marks: 1 (Budgeted Time 1 Min)

If one operand of "+ operator” is a string and the other one 15 a non string, then JavaScript

Answer { Please select your correct option )

Produces an error message

~
Converts the non string to string
P
Concatenates the string and non string
~

Performs both conversion and concatenation

YNade by: Waqar Siddhy




Question No : 21 of 52 Marks: 1 (Budgeted Time 1 Min)

In the context of Graphics, the Aliasing problem can be managed by the size of pixels.

Answer ({ Please select your correct option )

Reducing Correct answer solved by Hadi
‘ Email : usmanraj20@gmail.com
Cell no: 03087122922

Increasing

Intensifying

Modifying

) YNade by: Waqar Siddhy




Question No : 22 of 52 Marks: 1 (Budgeted Time 1 Min)

In wiew of Raster Graphics, select the most appropriate file format.

Answer { Please select your correct option )

vector
o~

swi

bmp

svg

YNade by: Waqar Siddhy




Question No : 23 of 52 Marks: 1 (Budgeted Time 1 Min)

On a web page, if we need to execute a script when a user exits the page, then which event handler should we use to run that script?

Answer ({ Please select your correct option )

onLoad
I

onUnload Correct answer solved by Hadi
&® Email : usmanraj20@gmail.com

Cell no: 03087122922

onFocus
.

onBlur
C [ ]

2
YMNade by: Waqar Siddhy




Question No : 24 of 52 Marks: 1 (Budgeted Time 1 Min)

Suppose you need to make a program using JavaScript which rounds the number 9.25 to the nearest integer. Which method you will use for this purpose?

Answer { Please select your correct option )

Math round(9.25)
L

Math.rd(9.25)

Round(9.25)

Mith round(9.25)

YNade by: Waqar Siddhy




Question No : 25 of 52 Marks: 1 (Budgeted Time 1 Min)

Continuous and autonomous handling of actions by using their principles is done by

Answer ({ Please select your correct option )

Robotics
~

Mobile agents

Decision Support Systems Correct answer solved by Hadi
Y Email : usmanraj20@gmail.com

Cell no: 03087122922

YNade by: Waqar Siddhy

Expert systems




Question No : 26 of 52

Marks: 1 (Budgeted Time 1 Min)

The distance among you and your family may be

because of spending more time on internet.

Answer { Please select your correct option )

Ended
~

Contracted

Increased

Decreased

YNade by: Waqar Siddhy




Question No : 27 of 52

Marks: 1 (Budgeted Time 1 Min)

TWhat will be the out put of the following code.

var a="100.21"

document write(parseInt(a));

Answer ({ Please select your correct option )

100.21 Correct answer solved by Hadi
& Email : usmanraj20@gmail.com
Cell no: 03087122922
21
o
100
-
10021
& [ ]
YNade by: Waqar Siddhe




Question No : 28 of 52 Marks: 1 (Budgeted Time 1 Min)

In 2000, Yahoo Servers were attacked by DoS attack, it took to recover from this attack.

Answer { Please select your correct option )

1 hour
~

2 hours

3 hours

4 hours

YNade by: Waqar Siddhy




Question No : 29 of 52 Marks: 1 (Budgeted Time 1 Min)

cannot be used as an event handler for the JavaScript image objects.

Answer ({ Please select your correct option )

ondbort
-

onError
o

onLoad
-~

ShSubiiE Correct answer solved by Hadi
$ Email : usmanraj20@gmail.com

[ ]
Cell no: 03087122922
YMNade by: Waqar Siddhy




Question No : 30 of 52 Marks: 1 (Budgeted Time 1 Min)

1s used in JavaScript to execute some code after a specified time-interval.

Answer { Please select your correct option )

Timeout( )
~

setTime( )

setTimeout( )

setTimeln( )

YNade by: Waqar Siddhy




Question No : 31 of 52

Marks: 1 (Budgeted Time 1 Min)

The process which leads us to the exact location of defects in a program is termed as

Answer ({ Please select your correct option )

»

Debugging Correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03087122922

Testing

Defect Killing

Bug Fixing

YNade by: Waqar Siddhy




Question No : 32 of 52

Marks: 1 (Budgeted Time 1 Min)

error occurs when we write a piece of code that violates the rules of the language.

Answer { Please select your correct option )

2

Syntax

Semantic

Run Time

Specific

YNade by: Waqar Siddhy




Question No : 33 of 52

Marks: 1 (Budgeted Time 1 Min)

There are types of errors in a program.

Answer ({ Please select your correct option )

]
-

2
o

3 Correct answer solved by Hadi
¥ Email : usmanraj20@gmail.com

Cell no: 03087122922

4

& [ ]
L J
YMNade by: Waqar Siddhy




Question No : 34 of 52 Marks: 1 (Budgeted Time 1 Min)

The Information technology has three core areas

Answer { Please select your correct option )

Telecom Engineering, Electrical Engineering, Computer Science
~

Telecom Engineening, Computer Engineering, Computer Science

Telecom Engineering, Computer Engineering, Database Engineering

Telecom Engineering, Computer Engineering, Hardware Engineening

YNade by: Waqar Siddhy




Question No : 35 of 52 Marks: 1 (Budgeted Time 1 Min)

Software Development Process involves working of different teamns but team has its major contribution in a project after the designing phase.

Answer ({ Please select your correct option )

QA
I

Architect
P

Development Correct answer solved by Hadi
o Email : usmanraj20@gmail.com

Cell no: 03087122922

HE.

C [ ]
2
YMNade by: Waqar Siddhy




Question No : 36 of 52 Marks: 1 (Budgeted Time 1 Min)

An algonthm developed to deal with a particular situation is giving the desired results but taking long execution time. It will be called as

Answer { Please select your correct option )

MMonte Carlo algorithm
~

Greedy algonthm

Deterministic algonthm

Heuristics

YNade by: Waqar Siddhy




Question No : 37 of 52 Marks: 1 (Budgeted Time 1 Min)

Which of the following is not true for the traditional approach of information processing?

Answer { Please select your correct option )

There is commmon sharing of data among the various applications.
~

It 1s file ontented.

Programs are dependent on the file.

It 15 inflesable.

YNade by: Waqar Siddhy




Question No : 38 of 52 Marks: 1 (Budgeted Time 1 Min)

A computer screen consists of shape pixels.

Answer ({ Please select your correct option )

straight Line
I
square Correct answer solved by Hadi
‘ Email : usmanraj20@gmail.com
Cell no: 03087122922
vertical Line
-~
elliptical
C °
o
YMNade by: Waqar Siddhy




Question No : 39 of 52

Marks: 1 (Budgeted Time 1 Min)

A home page 15 a part of a

Answer { Please select your correct option )

Terminal
~

Webstte

Browser

Protocol

YNade by: Waqar Siddhy




Question No : 40 of 52

Marks: 1 (Budgeted Time 1 Min)

The success of a website is determined by

Answer ({ Please select your correct option )

Its Number of users
Its number of users

Correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03087122922

By designers

By developers

By testers

YNade by: Waqar Siddhy




Question No : 1 of 52 Marks: 1 (Budgeted Time 1 Min)

Which one of the following will not be considered as the use of Word Processor?

Answer ( Please select your correct option )

Composing Magazines
(@
Wniting Memos
-
Writing Research RePorts Correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03087122922
IMaking Ledgers
-




(Question No : 2 of 52 Marks: 1 (Budgeted Time 1 Min)

Today s fastest computer can do of calculations in a second.

Answer | Please select your correct option )

Thousands
P

Billions

Trillions

Mfillions




Question No : 3 of 52 Marks: 1 (Budgeted Time 1 Min)

Which of the followang 15 not an example of Mult-user Operating System?

Answer | Please select your correct option )

Dos Correct answer solved by Hadi
[ 3 Email : usmanraj20@gmail.com
Cell no: 03087122922

Solans

Lz




Question No : 4 of 52 Marks: 1 (Budgeted Time 1 Ilin)

Tdentify, which one of the following is not a type of JavaScript loops?

Answer { Please select your correct option )

For
o
While
[ ¢
Switch Correct answer solved by Hadi
’ Email : usmanraj20@gmail.com
Cell no: 03087122922
Do-"While
i de by: idd
ade by: Yy/aqar Siddh




Question No : 5 of 52 Marks: 1 (Budgeted Time 1 Ilin)

When our required condition matches with any switch case, keyword enforces the program to exit from switch construct.

Answer { Please select your correct option )

default
'@,

break

jump

stop

) YNade by: Yy/aqar Siddh




Question No : 6 of 52 Marks: 1 (Budgeted Time 1 Min)

Comments increases

Answer | Please select your correct option )

Code Understanding

Correct answer solved by Hadi

& Email : usmanraj20@gmail.com
Cell no: 03087122922
Memory Space
-~
Code Efficiency
I

Code Complexty




Question No : 7 of 52 Marks: 1 (Budgeted Time 1 Min)

1z the eszsential property of every Java=cnpt object.

Answer | Please select your correct option )

Color
c
Width
I
IMame
c
SiFE Correct answer solved by Hadi
F Email : usmanraj20@egmail.com
Cell no: 03087122922




Question No : 8 of 52 Marks: 1 (Budgeted Time 1 Min)

If you are required to join two Labs of similar type of LA then which dewice wall be more sumtable to fulfill this requirement?

Answer | Please select your correct option )

Eouter
I
Br‘idge Correct answer solved by Hadi
L ] Email : usmanraj20@gmail.com
Cell no: 03087122922
Crateway
-
Modem
O




Question No : 9 of 52

Marks: 1 (Budgeted Time 1 Min)

Highest bandwidth of a channel can be up to:

Answer ( Please select your correct option )

This ’
& Correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03087122922
Kbis
-
Mbis
I
Gbfs
)




Question No : 10 of 52 Marks: 1 (Budgeted Time 1 Min)

What 1z the shortcut key to open the cell format window m W2 Excel?

Answer | Please select your correct option )

Sl
h

vl

Ctrl +4

il + Shaft + Enter




Question Mo : 11 of 52

Marks: 1 (Budgeted Time 1 Min)

Walue of a variable, in JavaZcopt.

Answer | Please select your correct option )

can't be changed

e
can be changed Correct answer solved by Hadi
o Email : usmanraj20@egmail.com
Cell no: 03087122922
15 always positive
-

1z always negative




Question Mo : 12 of 52

Marks: 1 (Budgeted Time 1 Min)

In an TP address, there are four set of

numbers which are separated by penods.

Answer | Please select your correct option )

12-bat
p

16-bat
P

32-bit
e

B-bit
*




Question No : 13 of 52 Marks: 1 (Budgeted Time 1 Min)

prowdes the factity of searching and dewnloading the new e-maitl messages to an e-mail chent.

Answer | Please select your correct option )

HTTF
c
POP3
» Correct answer solved by Hadi
Email : usmanraj?0@email.com
Cell no: 03087132977
TR
c
FTFP
O




Question Mo : 14 of 52

Marks: 1 (Budgeted Time 1 Min)

In JawvaScript, the use of 'var' with a wvanable name is

Answer | Please select your correct option )

Mandatory
-

Mot allowed

& syntex error

Crphional




Question No : 15 of 52 Marks: 1 (Budgeted Time 1 Min)

Which event handler executes the specified JavaZcnpt code when a window [ form element loses focus?

Answer | Please select your correct option )

onLoad
c
onlnload
I
Correct answer solved by Hadi
onBlur
' Email : usmanraj20@gmail.com
Cell no: 03087122922
onFocus
O




(Question No : 16 of 52 Marks: 1 (Budgeted Time 1 Min)

If you want to make a good presentation then the each shde of your presentation should contain

Answer | Please select your correct option )

Headmngs only

-

Fhrases, not sentences

Zentences, not phrases

Headings and zentences




Question No : 17 of 52 Marks: 1 (Budgeted Time 1 Min)

For good presentation and better wsthality of text, we should uze background color in each shde.

Answer | Please select your correct option )

Light

I

Dark Correct answer solved by Hadi
’ Email : usmanraj20@email.com
Cell no: 03087122922

Faded

Transparent




Question No : 18 of 52

Marks: 1 (Budgeted Time 1 Ilin)

What will be the output of the following code?
country="Hello Pakistan”,
document write (country.length);

Answer { Please select your correct option )

12
@

13

14

15

YNade by: YWaqar Siddh




Question No : 19 of 52

Marks: 1 (Budgeted Time 1 Ilin)

document write ("20"+"12");
The output of the above statement is

Answer { Please select your correct option )

32
o
1220
[ ¢
2012 Correct answer solved by Hadi
» Email : usmanraj20@gmail.com
Cell no: 03087122922
2400
' ®
YNade by: Yaqar Siddh




Question No : 20 of 52 Marks: 1 (Budgeted Time 1 Ilin)

Suppose you have an RGB scheme based image of 1024x768 pixels. Select the appropriate space you should have in your computer to store this image.

Answer { Please select your correct option )

2.25MB
»

2.96 MB

3MB

325MB

) YNade by: Yy/aqar Siddh




Question No : 21 of 52 Marks: 1 (Budgeted Time 1 Ilin)

In wview of Raster Graphics, select the most appropriate file format.

Answer { Please select your correct option )

wector
o

swf
[ ¢

bmp Correct answer solved by Hadi
‘ Email : usmanraj20@gmail.com

Cell no: 03087122922

svg

) ®
L
YNade by: Waqar Siddh




Question No : 22 of 52

Marks: 1 (Budgeted Time 1 Ilin)

Which of the following 1s not true for JavaScript?

Answer { Please select your correct option )

Scripting Language
(@

Case Sensitive Language

Object Based Language

IMarkup Language

YNade by: YWaqar Siddh




Question No : 23 of 52 Marks: 1 (Budgeted Time 1 Ilin)

To store rounded number of 8.6 in a vanable called "r_number", we write

Answer { Please select your correct option )

r_number=NMaths round(8.6),
~

r_numbers=Naths rounds(8.6);

r_number=NMath rounds(8.6),

r_nmnber=Maﬂ1.round(8.6); Correct answer solved by Hadi

F'y Email : usmanraj20@gmail.com e
Cell no: 03087122922 m“de by: Wuq“' &‘lddh




Question No : 24 of 52 Marks: 1 (Budgeted Time 1 Ilin)

Iaintaining the correctness and consistency of data in a database refers to

Answer { Please select your correct option )

Data Reliability
&

Data Entry

Data Integrity

Data Security

) YNade by: Yy/aqar Siddh




Question No : 25 of 52 Marks: 1 (Budgeted Time 1 Ilin)

In Genetic Algonthms, the most important thing to be kept in mind is:

Answer { Please select your correct option )

Procedure to solve a problem

o
Recognition of a good solution Correct answer solved by Hadi
& Email : usmanraj20@gmail.com
Cell no: 03087122922
Different techniques
P

Greedy solutions

’ YNade by: YWaqar Siddh




Question No : 26 of 52

Marks: 1 (Budgeted Time 1 Ilin)

A& coder has to write an event handler, the correct sequence of the attributes of that event handler should be

Answer { Please select your correct option )

&

Identifier of Event handler, String, Equal

String, Identifier of Event handler, Equal

Equal, String, Identifier of Event handler

Identifier of Event handler, Equal, String

YNade by: YWaqar Siddh




Question No : 27 of 52 Marks: 1 (Budgeted Time 1 Ilin)

Iathematical functions in JavaScript are accessed by referring to various methods of the object.

Answer { Please select your correct option )

Math Correct answer solved by Hadi
L 3 Email : usmanraj20@gmail.com
Cell no: 03087122922

Array

String

Numerical

’ YNade by: YWaqar Siddh




Question No : 28 of 52 Marks: 1 (Budgeted Time 1 Ilin)

The process which leads us to the exact location of defects in a program 1s termed as

Answer { Please select your correct option )

Debugging
L

Testing

Defect Killing

Bug Fiang

) YNade by: Yy/aqar Siddh




Question No : 29 of 52 Marks: 1 (Budgeted Time 1 Ilin)

Client 1s the basic entity in software development. Tt is the responsibility of to manage the client’s matters.

Answer { Please select your correct option )

Pro_]ect Manager Correct answer solved by Hadi
b Email : usmanraj20@gmail.com
Cell no: 03087122922
Team Lead
&,
Developer
I
Quality Assurance Engineer
i de by: idd
ade by: Yy/aqar Siddh




Question No : 30 of 52 Marks: 1 (Budgeted Time 1 Ilin)

The has considerably changed the way of marketing forever, redirecting it from a mass focus to a single person focus.

Answer { Please select your correct option )

Telewision
'@,

Web

Mobile

Radio

) YNade by: Yy/aqar Siddh




Question No : 31 of 52

Marks: 1 (Budgeted Time 1 Ilin)

The Information technology has three core areas

Answer { Please select your correct option )

Telecom Engineenng, Electrical Engineering, Computer Science
~

Telecom Engmneering, Computer Engneening, Computer Science

Correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03087122922

Telecom Engineenng, Computer Engineering, Database Engineering

Telecom Engmeering, Computer Engineering, Hardware Engineening

YNade by: YWaqar Siddh




Question No : 32 of 52 Marks: 1 (Budgeted Time 1 Ilin)

With the passage of time, the field of Computing and Telecommunication are

Answer { Please select your correct option )

Diverging
&

Converging

Becoming obsolete

Becoming outdated

) YNade by: Yy/aqar Siddh




Question No : 33 of 52

Marks: 1 (Budgeted Time 1 Ilin)

Computers loses accuracy for a task after doing that task for:

Answer { Please select your correct option )

One millions of times
o

One billions of times
[ )

One trillions of times
P

Computer never loses accuracy Correct answer solved by Hadi
¥ Email : usmanraj20@gmail.com d b .dd

: B i
e YNade by: YWaqar Siddh




Question No : 34 of 52 Marks: 1 (Budgeted Time 1 Ilin)

There are so many web browsers available with Graphical User Interface these days. Which one of the following is the oldest GUI based web browser.

Answer { Please select your correct option )

IE
C

Mozlla

Mosaic

Opera

) YNade by: Yy/aqar Siddh




Question No : 35 of 52 Marks: 1 (Budgeted Time 1 Iin)

Suppose a web developer wants to permit the user to make multiple selections from the list of 5 options on a web page. Which type of element will he use for this situation?

Answer { Please select your correct option )

Check box doubt
(..
Text box
)
Radio button
o
Text area
o
YNade by: YWaqar Siddh




Question No : 36 of 52 Marks: 1 (Budgeted Time 1 Ilin)

If we want to execute a statement repeatedly that 15 based on boolean condition, then loop will be used:

Answer { Please select your correct option )

For
o
For...in
[ ¢
Ifelse Correct answer solved by Hadi
- Email : usmanraj20@gmail.com
Cell no: 03087122922
While
“ de by: idd
ade by: Yy/aqar Siddh




Question No : 37 of 52

Marks: 1 (Budgeted Time 1 Ilin)

“Learning through trail and errors™ is specifically termed as

Answer { Please select your correct option )

Understanding
~

Heuristic

Correct answer solved by Hadi
Email : usmanraj20@gmail.com
Cell no: 03087122922

Experience

Knowledge

YNade by: YWaqar Siddh




Question No : 38 of 52 Marks: 1 (Budgeted Time 1 Iin)

In a software house, 1s responsible for ensuring the quality of the software.

Answer { Please select your correct option )

Technology transfer team
o
Configuration management team
)
Quality assurance team
p
Development team Correct answer solved by Hadi
'@ Email : usmanraj20@gmail.com ®
Cel n: 02087122522 YNade by: Yaqar Siddh




Question No : 39 of 52 Marks: 1 (Budgeted Time 1 Ilin)

Which of the following technique can be used to display one of several images based on the requirement?

Answer { Please select your correct option )

Image downloading
.
Image preloading Correct answer solved by Hadi
® Email : usmanraj20@gmail.com
Cell no: 03087122922
Image uploading
-~
Image postloading
) ®
o
YNade by: Y/aqar Siddh




Question No : 40 of 52 Marks: 1 (Budgeted Time 1 Ilin)

Which of the following cannot be considered as a property of image object?

Answer { Please select your correct option )

hspace
o
height
[ ¢
onLoad Correct answer solved by Hadi
- Email : usmanraj20@gmail.com
Cell no: 03087122922
lowsrc
“ de by: idd
ade by: Yy/aqar Siddh
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